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QUESTION 1

Which open source management framework does VMware NSX use to manage VXLANs on Junos device? 

A. OVSDB 

B. Contrail networking 

C. OpenFlow 

D. OpenConfig 

Correct Answer: A 

 

QUESTION 2

Which two data models are supported for the Junos Telemetry Interface (JTI)? (Choose two.) 

A. Azure Application Insights 

B. Native Sensors 

C. Amazon Kinesis 

D. OpenConfig 

Correct Answer: BD 

 

QUESTION 3

Which interface is used by applications, orchestration system, and other types of business systems to communicate with
as SDN controller? 

A. controller interface 

B. northbound interface 

C. east-west interface 

D. southbound interface 

Correct Answer: B 

 

QUESTION 4

Which Junos Space application integrates with both VMware vSphere and VMware NSX solutions to automate the
movement of VLANs between physical and virtual servers? 

A. Edge Services Director 
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B. Policy Enforcer 

C. Network Director 

D. Connectivity Services Director 

Correct Answer: C 

 

QUESTION 5

Juniper Networks supports which two alternatives to layer 2 loop prevention protocols, such as STP, in an underlay
network? (Choose two) 

A. MC-LAG 

B. BGP 

C. LACP 

D. TRILL 

Correct Answer: AC 

 

QUESTION 6

Which CSO component enables ISPs to set up and manage the virtual network and customers? 

A. Service and Infrastructure Monitor 

B. Designer Tools 

C. Administration Portal 

D. Customer Portal 

Correct Answer: C 

 

QUESTION 7

Server-1 has an infection and is communicating with a command and control server on the Internet. You want to ensure
that the infection on Server-1 does not infect Server-2? 

Which two actions accomplish this task? (Choose two.) 

A. Deploy Sky ATP with advanced anti-malware protection 

B. Deploy Sky ATP with CandC protection 

C. Deploy Policy Enhancer to isolate infected host 

D. Deploy Sky ATP with GeoIP protection 
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Correct Answer: AB 

 

QUESTION 8

You are deploying a layer 3 underlay network with 10,000 devices and hosts. Which two statements are correct in this
scenario? (Choose two.) 

A. Loop prevention is provided by the routing protocol 

B. Routing table can become very large 

C. RSTP can be used for loop prevention 

D. The MAC tables can become very large 

Correct Answer: AB 

 

QUESTION 9

Which two product are required when deploying vSRX as a partner security service in VMware NSX? (Choose two) 

A. VMware vROPs 

B. VMware NSX manager 

C. Junos Space Security Director 

D. IDP sensor 

Correct Answer: BC 

 

QUESTION 10

In which two scenarios is Contrail used? (Choose two.) 

A. private cloud networking 

B. network hardware lifecycle management 

C. Network Functions Virtualization 

D. policy-based routing 

Correct Answer: AC 

 

QUESTION 11

Which statement defines a public cloud? 
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A. The cloud infrastructure is a composition of two or more strict cloud infrastructures 

B. The cloud infrastructure is provisioned for exclusive use by a specific community of consumers from organizations
that have shared concerns 

C. The cloud infrastructure is provisioned for exclusive use by a single organization comprising multiple consumers 

D. The cloud infrastructure is provisioned for open use by the general Public 

Correct Answer: D 

 

QUESTION 12

What is a primary difference between NFV and VNF? 

A. A VNF defines the network underlay tunnel methodology while NFV is firewall that inspects traffic in the overlay
network. 

B. NFV is the framework that describes how a virtual function should operate while VNF is the virtual function itself 

C. A VNF operates on a bare metal server while NFV operates on a switch 

D. NFV identifies the host on which the VNF operates. 

Correct Answer: B 

 

QUESTION 13

Which statement is true about the OpenConfig data model? 

A. It supports YANG 

B. It provides UDP-based transport 

C. It is embedded in all devices that run the Junos OS 

D. It uses MySQL as the default database structure 

Correct Answer: A 

 

QUESTION 14

You are the administrator of an MPLS WAN. Intermittent WAN hardware failures are causing customer traffic to route
over newly computed forwarding paths that do not satisfy service level agreements. Which Juniper Networks solution
would be used to analyze this problem? 

A. Network Director 

B. AppFormix 

C. NorthStar Planner 
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D. Contrail 

Correct Answer: C 

 

QUESTION 15

Which two statements are true about an SDN controller? (Choose two.) 

A. An SDN controller automates repetitive tasks in a network 

B. An SDN controller regulates traffic transmission rates in a network 

C. An SDN controller centralizes control and configuration of a network 

D. An SDN controller stores and manages software mages 

Correct Answer: AC 
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